CYLINDER STORAGE INSTALL GUIDE

N Drill 1/4" holes in mountin
g surface and
"'a\ fasten using 107-0010 and 109-0011.

. ye#é"‘vcf{“@ 54-1000 Hardware

A

v

4 X 107-0010, 1/4" Flange Bolt
4 X 109-0011, 1/4" Flange Nut
1 X 205-0003, 36" Buckle Strap

/>J Pass 205-0003 through slots.

A v Drill 1/4" holes in mounting surface and
’@ fasten using 107-0010 and 109-0011.
L

54-1010 Hardware

v 4 X 107-0010, 1/4" Flange Bolt
T~ 4 X 109-0011, 1/4" Flange Nut
= 1 X 205-0003, 36" Buckle Strap

oo |
L—@" Pass 205-0003 through slots.

Drill 1/4" holes in mounting surface and
fasten using 107-0010 and 109-0011.

54-1020 Hardware

| 4 X 107-0010, 1/4" Flange Bolt
M 4 X 109-0011, 1/4" Flange Nut
T 1 X 205-0003. 36™ Buckle Strap

Pass 205-0003 through slots.

)

CAUTION

This equipment is designed to be professionally installed by an approved up-fitter. Always wear ear and eye protection and exercise

caution when installing Westcan products.

Preparation

1. Ensure all parts are present and accounted for before installation. Plan the location of your installation ahead of time and
make sure your installation location does not impede any other components you are installing or damage the safety and
functionality of your vehicle.

2. Every installation is different and can present its own unique challenges. Some hardware may need to be altered to fit
unique applications. Where specified use a good quality liquid thread lock.

3. Exercise extreme diligence when drilling holes into a motor vehicle. Increasing complexity and model year changes can alter

the location of fuel, hydraulic and electrical lines. Please visually inspect all locations prior to drilling.
PAGE 1



